S0 1T L) TR, L -)E, =", E./0123044/5/ 06
:

Please read the following passage carefully and then answer the questions following it.

Your response to Section A MUST be in ONE of the languages that you are applying to
study here. If you are studying at A-level (A2) or equivalent both of the languages you wish
to study here, you are free to write in either language. Please write APPROXIMATELY 250
WORDS in your answetr.

Your response to Section B MUST be in English. Please note that you will not be penalised if
you don’'t know the correct terminology to describe the use of English in the passage.
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